
Ответы на задания работы 

 

Математика, 6 класс 

 

№ Вариант 1701  
 

(УМК Н.Я.Виленкин,  

УМК А.Г. Мордкович) 

Вариант 1702  
 

(УМК Н.Я. Виленкин,  

 УМК А.Г.Мордкович) 

Вариант 1703 
 

(УМК  С.М. Никольский,  

УМК Г.В. Дорофеев,  

УМК Е.А. Бунимович) 

Вариант 1704 

 
 (УМК С.М. Никольский,  

УМК Г.В. Дорофеев,  

УМК Е.А. Бунимович) 

1 2 2 2 2 

2 3 3 3 3 

3 10 14 10 14 

4 4 4 4 4 

5 28 32 28 32 

6 4 2 4 2 

7 Машин; на 0,1 Катин; на 0,1 Машин; на 100 Катин; на 100 

8 6,08 9,08 1  5  

9 0,7 0,4 1  1  

10 42 кг 40 кг 42 кг 40 кг 

11 5 гостей 11 гостей 5 гостей 11 гостей 

12 40 км 90 км 40 км 90 км 

 
 


